@7 @ 8 @ 9 ® 10

@D 6



2.

45

53
90

@



3.

0=

i

D 10x-x

@ 1000x — 10x

@ 100x — x

® 1000x — 100x

ShAgs x = 1.254 2 B4 Uerd uf), 71 gake

® 100x — 10x



= Ve H?

@ 0.2 ® 0.3 @ 0.4 ® 0.5

@ o0.i



the AL TSI o, b ol Thdtel a— b o] gEe?

0.5=ax0.1, 0.15 = b x0.01

® -10 @ -5 ®0 @ 5 ® 10



4x4\*  64x15
6. (y) = y;Cc ?:_!tq},a—l-b—kcg]%}:%?

@ 6 @7 ® 8 @ 9 ® 10



7. 3x32=7290°0]122x43+8=2 4 W, x+y 2o g Fotoi=t.

@7 @ 8 @9 @ 10 ® 11



2 =
x1:97,xQ:x—,X3:*,x4 *O]E}‘é]'uﬁ,xl'xz'xymgl

A2

O 2 @ 4 ® 6 @ 8 ® 10



9.

(—2x1y)? + (=x%y?)3xo = 8x 2] O ¢oll D2 A& 5}t

@ 4x%y? @ 4xy* @ —4x2yt

@ 2x*y* ® —2x%y*



10. o5 H7] F oA =

4
WE
=
ro,
N
N
O

@ 4x? - 5x
© x(4x—4)+2-4x?
1
© xj—x
® (2-4x+3x%) -2(x* —4x+1)

g tan) - (1o o)
S pdx—1) - (-1-dx-=
@<2x—|—x X 3x

@ 174 @ 274 @ 37 @ 4 7 ® 574



11.

SHAJoO] (x42)(x—5) 2 A7oH=t] -5 2 A2 A Hol 24 Tx+ B
2 AT E, (25— 1)(x + 3) & Aokt x O] A 28 HR
HobA Cx? - 7x - 302 AASAT). o] ), A + B+ C 2] 32

D 5 @ 9 ® 13 @ 17 ® 21



S, a o] AlPE?

12. (1 i
3a - 4) 2 A4k



op

x2-49

O (x+7)(x=-7)

-9

@ (-3+x)(-3-x)

—4a® + 16

® (-2a+4)(2a+4)

0O
~ 1;2
-~
+ o
~ -~
=
I
7~ N
l — D
—
~ 1
I BN
= N———
= —
A oD
L+
AN
((



3x4 + bolA F FFa, b 9 F ab 9]

5)

)(es

1
3

14. (3x-1) (x +

ol



O
=

S, a+b 9 3t

® 130

@ 31 ® 60 @ 65

D 19



16.

@ xX+y



17.

g 40 e FATAL B8stel Fobelw gt (
oF
=

) el

(4+2)(42+22) (44+24) (48+28) (416+216) (432_,'_232)_;'_263
=9()

@® 126 @ 127 ® 128 @ 129 ® 130



18. % Ay, yoll tiote] «, a S xxy = (852 + 40?) = 2xy , xay =

- — (xay)
122y — 8x2y) = 4xy = A O]5F ’Mo 7re9
(12x%y = 8x%y) + dxy = 2 O] 0 (x*y)+(xAy)—4m

D 6y + x @ 6y — x 3 6y — x
6y + x 6y — x 6y + x
@ 6y + x 3 Jy—x

6y — x 3y+x



19.

3203 - 37! = 243 0| 4] x O] 27

® 3 @ 4 ® 6






